N = 0l & At & Ml A

2020 = 20l A LEHS H Ol & &t
S A 0lehHd
B Y oYy U
el QI EE N M (el @2)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
I PSEn 4,547,863 2,559,846 1,988,017
Dl 24,787
= 109,214
= 4,413,862
NN Ak 250 951,720 481,900 469,820
o 58,600
= 893, 120
Ol A AN H 939,720 469,900 469,820
= 55,000
= 884,720
OIPHEANMIM 2H 939,720 469,900 469,820
=} 55,000
= 884,720
201 et 9| 63,600 63,500 100
01 AP 2t 2] d| 53,600 63,500 9,900
OgttL2H| 51,500
OUPHAEM 222 HE S
9,000,000 x14! 9,000
OUPEUEY z2d +8H
3,000,000& =14l 3,000
OeRHEHM =EEZ2 M &2 ]
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202 o4l 7,800 7,800 0
01 2L Hl 7,800 7,800 0
OCR2HEAFZM 22 (4 H| 50,000& »3H x40 6,000
O FREHEIAAZ 201 H| 20,000& 3% 30 1,800
203 € R F & 4,320 4,000 320
03 AIEH =& 2 F X Y| 4,320 4,000 320
OXEAY HRFEH| 4,320,000& * 1Al 4,320
207 I & d| 262,000 0 262,000
01 d32E<H| 262,000 0 262,000
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OBEEM J=HE 2B
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OHYZ ATEMY J2HE +EE
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SHALAH|I X & 2 6,000 9,200 N 3,200
OFHEUERND A& 20,000&*30¥ *103 6,000
JEtE &2 466,000 368,400 97,600
O2LH HStM D= AlHl X2 2
1,000,000& *300H 300,000
ollgegdd Z2&&d=2 N3 166,000
O13l &t 1,000,000 x4« 128 48,000
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O33 Xt 2,000,000& » 194+ 38,000
ZAZ 8,000 7,000 1,000
ZaZ 8,000 7,000 1,000
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DI2AMAIE E X 122,000 10,000 112,000
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= 8,400
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=P 155,000 0 155,000
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2N

0l g
HE: 2PIYRS
ool BPHLHES (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OZZE=E 92 NN ¢ 38
16,000, 000& x4 3| 64,000
oo 2= HM=X&  100,000,000& *13] 100,000
OABOEN 228 & AT MH
10,000, 0002 14! 10,000
OABIS(N 22 £ SN
100,000 * 1004 2 1,000
OBZIIEE g L RY  30,000,0008 *14! 30,000
OHYT SHUBLY YN 25 Al
22,000,000& =14 22,000
oxd2Z g2dIl MZE 40,000,000 14 40,000
OFYLZT E22X 224 HME
22,000,000& » 14! 22,000
02 2324l 9,694 9,694 0
o0zE2= & HA 9,694
ORCAFI MRS 10,0002 = 12& 120
OReUAZED| HURS 150,000& =128 1,800
OfUAZEI SXNEHIE 7,774,000& 14! 7,774
03 &AL2 I 20,000 20,000 0
OFA0l 32= 22X HAA
20,000,000& » 14! 20,000
202 o4dl 9,000 7,500 1,500
01 = LH o4 1l 9,000 7,500 1,500
OZZFM JRFA 220l
50,0003 x3H 60 9,000
207 A O 2| 22,000 200,000 A 178,000
01 289 22,000 200,000 A 178,000
O=Z3ME OI0IXl HEEH
22,000,000& =14 22,000
301 LEHZ 30,000 30,000 0
12 JIEBHE4 3 30,000 30,000 0
Ot &2 2X CMEE Xz
200,000& x1503] 30,000
a2 HE A 22l(01) 88,200 88,200 0
J| 24,787
s 63,413
301 2N = 88,200 88,200 0
J| 24,787
s 63,413
12 JIEHE4 = 88,200 88,200 0
OZst2Zoi& A &Sl 86,400,000 » 14! 86,400
J| 24,787
[ia 61,613
OUZstHH 2Z2HESHA 3l
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AN Oleid =t
Ha: BPYIIMRE
te: HABHSES (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=oAL 22| 13,220 13,220 0
= 614
s 12,606
201 £B-2d| 7,120 7,120 0
< 614
s 6,506
01 At 22/l 6,000 6,000 0
O et H| 3,900
OSSBRHLAN 422 2
100, 000& »7H 700
Ot Ze M il RAE+
800,000& #4H & 3,200
oul=l 2,100
O=st2ZMEA HH=(S=,0t2)
150,000 »7H »23| 2,100
02 =24l 1,120 1,120 0
O=323<LHA 1,120
O=2st2tZol & At Aoil2& ot
160, 000& »7H 1,120
< 614
e 506
301 LEEAS 6,100 6,100 0
09 HALAHIXI &3 6,100 6,100 0
OSSIBFHLA DS L BAAH
300,000 »7H 2,100
O=2st&ZidA &&X As
4,000,000& =14 4,000
ZHZOHU M A RS A (2) 20,000 18,000 2,000
= 10,000
s 10,000
401 A& HIZ 201 Y| 20,000 18,000 2,000
< 10,000
s 10,000
01 A& HI 20,000 18,000 2,000
OZZHHHEXE &3 L HE=S
20,000,000& =14l 20,000
< 10,000
e 10,000
SZOHHTM A 2= ALY 15,600 15,000 600
201 Yet2 | 5,600 5,000 600
01 At 2t 2l 5,600 5,000 600
OBt~ 5,600
OZFAUT(BEAIE, EE2S2 HAU S)
M= 140,000 *400H 2 5,600
401 Al HI L 2 THHI 10,000 10,000 0




AN Oleid =t
Ha: BPYIIMRE
Sl HBBHHER CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 10,000 10,000 0
OZTE 22N (T2 EXIE) XA
5,000,000 *20H 2 10,000
2t ere sl &t 35,440 18,440 17,000
201 ¢er24| 34,000 17,000 17,000
03 A2 Z Hl 34,000 17,000 17,000
ozZegs s22 24 34,000
OE22 21 2 22 AUE
13,000, 000& »24! 26,000
OMEasE &d 2,500,000& »24! 5,000
O&ANE E44F 7Y 1,500,000 24! 3,000
301 LEEXZ 1,440 1,440 0
09 HALAHIX RS 1,440 1,440 0
o&ergs FAL 2o 90,0003 »4H x4 1,440
FAEHHA 22(5) 70,000 0 70,000
< 30,000
[ia 40,000
307 21201 A 70,000 0 70,000
< 30,000
s 40,000
02 HAFAAFEX 70,000 0 70,000
OFIAENHA 2 X 70,000,000& =14 70,000
< 30,000
s 40,000
220t AE A (=) 20,000 0 20,000
< 10,000
s 10,000
201 Let249] 20,000 0 20,000
< 10,000
[ia 10,000
01 At 22l 20,000 0 20,000
O=ctel OHHE &1 20,000,000 =14l 20,000
< 10,000
[ia 10,000
FtAZ2=H =4 22,000 0 22,000
2B =EN =4 22,000 0 22,000
207 O] 22,000 0 22,000
01 2284 22,000 0 22,000
O2tZ=N 22 84 22,000,000 =14l 22,000
SESHQ 2FANE 29 224,279 226,892 22,613
HZAE2S 224,279 226,892 A2,613
LM ZU 2F2e 224,279 226,892 N2,613




SA D™D
B 52N BFANL 29
el BEAMRY (el @2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
101 14 Hl 22,119 75,832 Ab53,713
04 JIZHHZ22XREES 22,119 75,832 AB3,713
O8=) MEgZzQg2go2Y 7,203
Oy 69,4403 x2H +30 4,167
OFs=% 69,4402 x2H x4F 556
OAlteIZ2 2 12,8853 x2H*2A| 2t+302 1,547
O=&tl 3,000 »2H x30 180
O4UHEE = 6,270,000 x12% 753
OMEEz208 2d92=2Y 9,048
osy 69,440 x1H » 112 7,778
O= &l 3,000& x 18 «112 336
C42E = 7,778,000 x12% 934
Sgxz20y 292y 3,912
ooy 69,4403 x3H 182 3,750
O= &l 3,000 x3H 18 162
OF=M tl=xg R 1,956
Oy 160,000 »6H »23| 1,920
O=&l 3,000 x6H x23| 36
201 LB-2E| 115,340 124,740 A 9,400
01 At 2t 2l 67,550 76,950 A 9,400
OBt~ 36,050
OHZ0 AR4 2gHl 400,000& 123 4,800
OF=2U =22 MY 5,000,000& » 14! 5,000
OAEBF 2l 1,000, 000& *23| 2,000
OE XA Fbl 500,000 x24! 1,000
ORoZHIXZHHES == 300,000 *12E 3,600
Ot A 2 2AXA(1,2,38)
700,000& »23] 1,400
ogaz I3 & X M=
1,000, 000& 23] 2,000
OdUliad A=l 200,000& =63l 1,200
OHEZM==2 100,000& =122 1,200
O&Jetd 2|2 240,000& »12& 2,880
(OFSW PSR SRl 530,000& x13] 530
OsZJlgtdze|iid+== 200,000& 123 2,400
OsZJIdY&E A 120,000& * 13| 120
OLHANESSEHLEHAHI 600,000& x13] 600
OLSANERSIsEZHI 600,000& x13] 600
OsHelAMdEg el =2
300,000& »12& 3,600
Oagordate| ?IE =2 200,000&*12E 2,400




2A: 0leHd ekt
. 80 HIAANE 29
el BEAMRY (el @2)
SH-HH . B(SH) - HBAMY - B2 ofl &t o SSa HDE2
ORNZMALS SN2 o8 42
60,000& x12& 720
O Il =2H| 1,500
22 X0 =4l 150,000& *5H *23| 1,500
(©FIpNE= 30,000
O3 MI = 10,000,000& * 14! 10,000
OXMELA Full DomeE A AR 2
20,000,000 =14 20,000
02 35244l 38,290 38,290 0
02222 2 MA 25,170
(OFSPIETE= 2,000,000& x12& 24,000
OTV=tl &g 10,000 x12& 120
OSAMNNHELS(ANEER) 120, 000& *23] 240
OsZIIHASSIEXNSAZ 5,000 x12& 60
Oggbl(d=st2 M2, AgotA)
750,000 * 14 750
O A& & H| K X Hl| 13,120
OFZU A& EHI 7 X bBI 1,000,000& x12& 12,000
UAA HE ofHyd = 35,000& x12& 420
OX LD Al A mps[Rs] 700,000& * 14 700
03 A2 EH| 9,500 9,500 0
OZELMA2U HAISHH| 9,500
O EYLstEEZZ 12|
1,000,000& *x23] 2,000
OgsYg ItEl 29| 3,500,000& *13| 3,500
OS&3 s A 2d| 1,000, 000& *13] 1,000
OSga=3 29| 500,000& *23| 1,000
O ==2t SHALSHHI 1,000, 000& *23] 2,000
202 04d| 4,320 4,320 0]
01 2L Y| 4,320 4,320 0
OXMZUYERF=A ZUHOHl 20,0003 *x3H x72! 4,320
401 Al HIL 20| 61,500 22,000 39,500
01 Al&HI 61,500 22,000 39,500
CHUUMHSI ZUAY Jtf Z|
22,000,000 » 14! 22,000
OZLNMAIZU FHEGZ S AIAE B
13,500,000 1Al 13,500
OEUNMEZ2U 2 QLT AHH|
17,000,000 1Al 17,000
OFZUY Stz Itz s JH|
9,000,000 1Al 9,000
405 XHo&HF S HI 21,000 0 21,000
01 JHMHY 2 E F S H 21,000 0 21,000




2A: 0l

M SBRO BEAM 2
el BEAMRY (el @2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OZZNA=l D=4 2dd Al
21,000,000 =14 21,000
JIEXE € KA 386,650 1,066,000 A 679,350
= & XX 386,650 1,066,000 A 679,350
LA U= XA 371,650 243,000 128,650
201 2et24d] 36,600 29,600 7,000
01 At 2teltl 29,600 29,600 0
O R<Iget=:] 29,600
OJIgRx RFM EXUH S MR8 EF
gl 300,000& »12& 3,600
OJIgH i 28HE +
1,000, 000& *43| 4,000
OJIgH 822 M 22,000,000& x13] 22,000
03 &AL Z I 7,000 0 7,000
O=s2JY 2==HS dAEES HA
7,000,000& 14 7,000
202 044l 10,050 13,400 A 3,350
01 SLHOIYI 10,050 13,400 A 3,350
OJIYRXNYFEF=A 2LHAHH
20,0003 »3H 602! 3,600
OJIYRINYRF=A 220l
50,0003 »3H 432! 6,450
301 LPEAZ 3,000 0 3,000
09 AL HIXI &3 3,000 0 3,000
O=z2JlY 2==HS dAES HA
3,000,000 » 14! 3,000
401 Al HIZ 201 8] 322,000 200,000 122,000
01 A& HI 322,000 200,000 122,000
OJI LA SOCKI & AH (D1 8HAIA)
200,000,000 » 14! 200,000
OBYT MAMEH BAANAY PE EHYY
29 22,000,000 =14l 22,000
OsEsSHI LPEX Z2HE A
100,000, 000& 14! 100,000
JIgol ALK& 15,000 10,000 5,000
307 glz2tol & 15,000 10,000 5,000
04 DI2HHALAISE E X 15,000 10,000 5,000
oJlges NS (S0rsta 8)
15,000, 000& * 14! 15,000
MEEs(0lhdk) 2,000,000 0 2,000,000
HEHHXZ 2,000,000 0 2,000,000
SN &EJI= d= 2,000,000 0 2,000,000




R R RS )y
HH: WRES(0lfdetn)

S WEAHAHX = (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
702 JISEEZS 2,000,000 0 2,000,000
(O RWIE=RSE= 2,000,000 0 2,000,000
ENsx HEIIS HES

2,000,000, 000& 14 2,000,000

AL (0l &etnt) 42,760 0 42,760

Jl=&l 42,760 0 42,760

Jl2zl 42,760 0 42,760

201 Let24d] 26,680 0 26,680

01 At 2teltl 25,680 0 25,680
OBt +=&H| 13,200
OZN23+=EHl 1,100,000& »12& 13,200
o=&Htl 8,000 «13F 120 12,480

02 =224l 1,000 0 1,000
O =zl 1,000
Ot Il 7 Xl 200,000& 53 1,000

202 Odl 12,480 0 12,480

01 = LH Yl 12,480 0 12,480
©l] 80,0003 x13H 123 12,480

203 R =&l 3,600 0 3,600

04 FN2ELRZ=TH| 3,600 0 3,600
ORAM2IYRFLH 300,000& »12& 3,600




